XDWM
RIS TE I T Q0" HANSAVFLEX

Kt o =Y.
B0 KE IR B AT sw i
BHER 1 BHELH B a0
£02 KA B R S
BEER 2 20 AR = 3
EMRE  ERAREEE TR Ty _
gRFR  B/E A s
73 3 DIN 2353 ! —

ISO 8434-1 S
H&BE BERH Y EIEFNER) oD
[T} "

RERP BERE

7R
BRRE, FA, EXRFEHNATN TEREN LA BEESATREEENRRER.
&

SR %ﬂijJ

XDWM NW 04 HL L PN 160 6 M10x 1 14 8 24 12 12,5 19 19 6 6
XDWM NW 06 HL L PN 160 8 M12x15 17 12 30 15 14,5 21 22 6 6
XDWM NW 08 HL L PN 100 10 M14x15 19 12 30 16 15,5 22 22 8 8
XDWM NW 10 HL L PN 100 12 M16x15 21 12 37 18 18,0 25 27 10 10
XDWM NW 10 HL 18 L PN 100 12 M18x15 23 12 37 18 18,0 25 30 12 12
XDWM NW 13 HL L PN 100 15 M18x15 23 12 40 20 22,0 26 30 12 12
XDWM NW 16 HL L PN 100 18 M22x15 27 14 46 23 21,5 27 36 14 14
XDWM NW 20 HL L PN 100 22 M26x15 31 16 51 25 26,0 33 41 17 17
XDWM NW 25 HL L PN 100 28 M33x2 39 18 64 32 31,5 39 50 22 22
XDWM NW 32 HL L PN 63 35 M42 x 2 49 20 76 37 35,5 46 60 27 27
XDWM NW 40 HL L PN 63 42 M 48 x 2 55 22 85 42 40,0 51 70 32 32
XDWM NW 03 HS S PN 160 6 M12x15 17 12 30 15 16,5 23 22 6 6
XDWM NW 04 HS S PN 160 8 M14x15 19 12 30 16 16,5 23 22 8 8
XDWM NW 06 HS S PN 100 10 M16x15 21 12 37 18 18,5 26 27 10 10
XDWM NW 08 HS S PN 100 12 M18x15 23 12 41 20 20,5 28 30 12 12
XDWM NW 10 HS S PN 100 14 M20x15 25 14 42 21 23,0 31 32 12 12
XDWM NW 13 HS S PN 100 16 M22x15 27 14 46 23 22,5 31 36 14 14
XDWM NW 16 HS S PN 100 20 M 27 x 2 32 16 58 28 27,5 38 46 17 17
XDWM NW 20 HS S PN 100 25 M33x2 39 18 64 32 31,0 43 50 22 22
XDWM NW 25 HS S PN 63 30 M 42 x 2 49 20 76 37 36,5 50 60 27 27
XDWM NW 32 HS S PN 63 38 M 48 x 2 55 22 85 42 41,0 57 70 32 32
ZHMRILL=FER =B S=E - PN=FEESN PB=JFAIfEN - dd2=EHER

FREs

XDWM VA  E#HKIFESE TR, AEW0°, EETTHERIMLDIK)

DWM E#NIRRIERE LT R, AE0°, THREZMYIARNEE

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
25.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



